A B | [¢] D E

o T12VIN CONNECTIONS TO PAGES 2 AND 3
SOURCEX
+12V IN > INPUT GATEL
El GATE2K——————— e - H|GH-CURRENT CONNECTIONS E5
SHSENSE+1 SENSE-1 &— +12V OUT
usi 10k 22 MMS752318 21 MMS752318 DPADCH ADC-K R122 E2
N ﬂ? JQQ R ok B +12V OUT
!\ D8 !\ 8%02 INTVCC R18 200 AMPS
w M GPIO3  s51v M GREEN s51v R7 22.1k 10k
~ D1 | GREEN o JP2
™ N
| GREEN |__ GPIO3 | GPIO2 R8 3.01k R9 ON N
< ) OPT , INTvCC o
ON E7 E20 E19 Q> (300K) ) Z ) !\ 8}%2 N SENSE-2
(SHORT PIN) O L R2 oV uv T T L FLOAT M
£ ' Q B I I T < I I B R c4 - R127
L s (0.1u) 4 GND N 24k
GND Z 0O < + o N o N oW go
- Q7 R1 0.1uF +32 v 02 4 8 i w8 u e i l E3
<SDA 340K 2|y 2 < 2 z < z S 3 GPIO1 O GPI0O1
E11 S 7 7 7] ) %le 19 | GPIO2
SDA 12
SDA (O ! SDAI U1 JSRET: | GPI03 . R16 0 E13
(sl 13 | spao e Y | O GPI02
E8 14 seL LTC4282-UH A 1 i va R19 ¢ R20 y
SCL SCL < 18 Y1 JP1 R15 0
O 15 | s ient : CLK_| , < 2 Wz J_ . | 4Mhz OPTIONAL CLK O GPI03
5 [ CLK_O 1 INT
E12 INTVCC 0\ — 33pF — ::)
A 4 O ¥ 0 a |:| 4 E4
ALERT 6 | X @ @ o a oz — 2 2
O TIMER O 3 389 X Z g L] I__|> EXT INTVEC __~ INT VCC
N lP—_I L()
ST E18 ok c2 <
- T 33pF ™ E15
EXT 5V TIMER O GND
E17 —
GND WRITE PROTECT HIGH CURRENT HOT SWAP CONTROLLER
JP6 GND
1 C6 C7 [ TS 1 +(§V
Quik Eval™ luF | 0.022uH 5 : ) Lock UNLESS OTHERWISE NOTED:
L NC . WRITE . 1. ALL RESISTORS THIS PAGE ARE 1% 0603.
L o
VUNREG 2. ALL CAPACITORS THIS PAGE ARE 0603.
veelo F2 R21 R10 R11
JP5 P4 JP3 Vv 3.01k 3.01k 3.01k
6 E21
scL N
SCK/SCL F—"— ¢pa R22 3 4 5
MOSISDA [5 +5V 5 11k 270027, 2N70027, 2N7o02”, GND
' i x> 4 w2 = w
x x GREEN x GREEN
EEVCC [52 . ¢ 1 |I:L ¥ RED L |I:L M s |I:L M
EESS%ﬁ %% * * o~ —| ALERT o~ «| SCL ~ | SDA MTG1
FEeND 1g R0 R12 ¢ R13 ¢ R14 A4 A4 N GND
GPIO | RIS B10S BTk 5/16 IN. DIA.
GND 3 GPIO1 - Cl14
GND 0.1uF
GND GPIO2
+5V u2
32 DC 1613 ? 24L.C025-1/ST
1630 McCarthy Blvd.
roxe 13 _ 10 vee -8 CUSTOMER NOTICE APPROVALS Milpitas, CA 95035 _
SDA I3 R125% R126 2 7 LINEAR TECHNOLOGY HAS MADE A BEST EFFORT TO DESIGN A [ 5cp peal v HAWKING Phone: (408)432-1900 www.linear.com
s S | e o TECHNDLOGY 25 ot 2
"RERTE 0 PV . A2 SCL : VERFY PR'8PER AND RELIABLE OPERATION I THE ACTUAL APPENG| SALAFZAL LTC Confidential-For Customer Use Only
APPLICATION. COMPONENT SUBSTITUTION AND PRINTED -
ool 8 VSS SDA CIRCUIT BOARD LAYOUT MAY SIGNIFICANTLY AFFECT CIRCUIT IC NO. TITLE: DEMO CIRCUIT SCHEMATIC,
_ PERFORMANCE OR RELIABILITY. CONTACT LINEAR
OUT%\'W% %(1) TP1 TP2 TECHNOLOGY APPLICATIONS ENGINEERING FOR ASSISTANCE. | LTC4282-UH LOW STRESS STAGED START 200A HOT SWAP CONTROLLER
AUXSCL —@
AUXSDA |2 SKU NO. PCABOM: 700-DC2442A_REV04 SCHEMATIC NO. AND REVISION:
v THIS CIRCUIT IS PROPRIETARY TO LINEAR TECHNOLOGY AND DCZ442A PCAASS'Y: 705 DC2442A_REV02 710 DC2442A—REVO3
SUPPLIED FOR USE WITH LINEAR TECHNOLOGY PARTS. SIZE: N/A SCALE=NONE | DATE: Thursday, December 08, 2016 | SHEET 1 OF 4

A B C [ D [ E




INPUT)

R135
100

— C15
0.01uF
50V

+

Cc8
1000uF
~| OPTIONA|

NICHICON P/N UVR1E102MP
OR EQUIVALENT

D10 SMCJ-28A
—
D11 SMCJ-28A
—
D12 SMCJ-28A
—
D13 SMCJ-28A OPT
—
D3 SMCJ-28A OPT

—

"RS1"

PRIMARY SIDE

R25
0.001

Q1"

PRIMARY SIDE

<A TOBOTTOM SIDE

Q2"

R62 0.1 1 Q6 PRIMARY SIDE

PSMNO011-30YLC

< SENSE-2_A

GATE2

E23

R75 59k

GATE2 O

|
0603 Cl]};|7
0.022u

0805

—

+

Cl
1000uF
~ OPTIONAL

NICHICON P/N UVR1E102MPD

OR EQUIVALENT

TP5
SENSE+1 (O)-1—

R68 0.5 R67 0.5

R65 1 R66 1

TP8

SENSE+Iy>——

L () sENsSE-1
(SENSE-1

e —H|GH CURRENT CONNECTIONS

R17 4.99 . _‘4 R74 10 c10
1R01028 <BTO BOTTOM SIDE 0603
— & ADC+ m RSZ" GATED H
+ D » ——< -
e ?’P3 TP4 PRIMARY SIDE ADCiP? TPéSENSE i GATE1 Eéz R76 5% [l
sense+2(O)+ L (O abc+ Res . ADC-; 31 () SENSE-2 0603 gézlz F47
02U

< SOURCE

NOTE: ALL RESISTORS AND CAPACITORS THIS PAGE ARE SIZE 0402 U.O.N.

APPROVALS

PCB DES.| M.HAWKINS

LT HNYR

APP ENG.| SAL AFZAL

1630 McCarthy Blvd.

Milpitas, CA 95035 .

Phone: (408)432-1900 www.linear.com
Fax: (408)434-0507

LTC Confidential-For Customer Use Only

IC NO. TITLE: DEMO CIRCUIT SCHEMATIC,

LTC4282-UH | LOW STRESS STAGED START 200A HOT SWAP CONTROLLER
SKU NO. PCA BOM: 700-DC2442A_REV04 SCHEMATIC NO. AND REVISION:
DC2442A PCA ASS'Y: 705-DC2442A REV02

710-DC2442A_REVO03

SIZE: 17x11 |SCALE=NONE| DATE: Thursday, December 08, 2016
) [

| SHEET 2 OF 4




[

FROM TOP SIDE

INPUT)

R116

R133 0
ADC+ )

FROM TOP SIDE RA5 0O
SENSE+2 >

R112

"RS1"

SECONDARY SIDE

R80
0.001

R114 0.1
R113 1

R134 0

R40 O

<A TO TOP SIDE

<ADC-
FROM TOP SIDE

KSENSE-2_A

R132, i Qlu

10 > SECONDARY SIDE

GATE2 —— |
FROM TOP SIDE

< SOURCE
TO TOP SIDE

NOTE: ALL RESISTORS AND CAPACITORS THIS PAGE ARE SIZE 0402 U.O.N.

1630 McCarthy Bivd.

APPROVALS Milpitas, CA 95035 .
PCBDES.| M.HAWKINS Phone: (408)432-1900 www.linear.com
TECHNOLOGY Fax: (408)434-0507

APPENG.| SAL AFZAL LTC Confidential-For Customer Use Only

IC NO. TITLE: DEMO CIRCUIT SCHEMATIC,

LTC4282-UH | LOW STRESS STAGED START 200A HOT SWAP CONTROLLER
SKU NO. PCA BOM: 700-DC2442A_REV04 SCHEMATIC NO. AND REVISION:
DC2442A PCA ASS'Y: 705-DC2442A REV02 710-DC2442A_REV03

SiZE: 8.5X14 | scaLE=NONE | DATE: Thursday, December 08, 2016 | SHEET 3 OF 4
D

[ E




PCA ADDITIONAL PARTS

MP1 BUMPER, RECESSED,#4 SCREW,BLACK MP21 | BOLT, HEX TAP,5/16-24X1-1/4,SS

MP2 BUMPER, RECESSED,#4 SCREW,BLACK MP22 | BOLT, HEX TAP,5/16-24X1-1/4,SS

MP3 BUMPER, RECESSED,#4 SCREW,BLACK MP23 | BOLT, HEX TAP,5/16-24X1-1/4,SS

MP4 BUMPER, RECESSED,#4 SCREW,BLACK MP24 | BOLT, HEX TAP,5/16-24X1-1/4,SS

MP5 WASHER,FLAT #4,SS 18-8 MP25 | WASHER, FLAT,5/16,0.344ID, 0.6880D/0.065THK,SS

MP6 WASHER,FLAT #4,SS 18-8 MP26 | WASHER, FLAT,5/16,0.344ID, 0.6880D/0.065THK,SS

MP7 WASHER,FLAT #4,SS 18-8 MP27 | WASHER, FLAT,5/16,0.344ID, 0.6880D/0.065THK,SS

MP8 WASHER,FLAT #4,SS 18-8 MP28 | WASHER, FLAT,5/16,0.344ID, 0.6880D/0.065THK,SS

MP9 SCREW, MACHINE,#4-40 X 1/2,PHILLIPS PH,SS MP29 | WASHER, FLAT,5/16,0.344ID, 0.6880D/0.065THK,SS

MP10 | SCREW, MACHINE #4-40 X 1/2,PHILLIPS PH,SS MP30 | WASHER, FLAT,5/16,0.344ID, 0.6880D/0.065THK,SS

MP11 | SCREW, MACHINE #4-40 X 1/2,PHILLIPS PH,SS MP31 | WASHER, FLAT,5/16,0.344ID, 0.6880D/0.065THK,SS

MP12 | SCREW, MACHINE #4-40 X 1/2,PHILLIPS PH,SS MP32 | WASHER, FLAT,5/16,0.344ID, 0.6880D/0.065THK,SS

MP13 | WASHER, LOCK,INT. TOOTH #4,SS MP33 | WASHER, INT. TOOTH LOCK,5/16, 0.3261D/0.6020D/0.031THK,SS
MP14 | WASHER, LOCK,INT. TOOTH #4,SS MP34 | WASHER, INT. TOOTH LOCK,5/16, 0.3261D/0.6020D/0.031THK,SS
MP15 | WASHER, LOCK,INT. TOOTH #4,SS MP35 | WASHER, INT. TOOTH LOCK,5/16, 0.3261D/0.6020D/0.031THK,SS
MP16 | WASHER, LOCK,INT. TOOTH #4,SS MP36 | WASHER, INT. TOOTH LOCK,5/16, 0.3261D/0.6020D/0.031THK,SS
MP17 | NUT, HEX,#4-40,SS 18-8 MP37 | NUT, HEX,5/16-24,FIN-NU-SS

MP18 | NUT, HEX,#4-40,SS 18-8 MP38 | NUT, HEX,5/16-24,FIN-NU-SS

MP19 | NUT, HEX,#4-40,SS 18-8 MP39 | NUT, HEX,5/16-24,FIN-NU-SS

MP20 | NUT, HEX,#4-40,SS 18-8 MP40 | NUT, HEX,5/16-24,FIN-NU-SS

PCB1 | PCB, DC2442A REVO02 LB1 | LABEL SPEC, DEMO BOARD SERIAL NUMBER

APPROVALS

PCB DES.| M.HAWKINS

APPENG.| SAL AFZAL TECHNOLOGY

1630 McCarthy Blvd.

Milpitas, CA 95035 .

Phone: (408)432-1900 www.linear.com
Fax: (408)434-0507

LTC Confidential-For Customer Use Only

IC NO. TITLE: DEMO CIRCUIT SCHEMATIC,
LTC4282-UH | LOW STRESS STAGED START 200A HOT SWAP CONTROLLER

SKU NO. PCA BOM: 700-DC2442A REV04
DC2442A PCA ASS'Y: 705-DC2442A REV02

SCHEMATIC NO. AND REVISION:
710-DC2442A_REV03

SIZE: 8.5X11 |SCALE=NONE| DATE: Thursday, December 08, 2016

| SHEET 4 OF 4
E

D




	PAGE1
	PAGE2
	PAGE3
	PAGE4



